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Who among the following artist is a famous j
Madhubani painter ? [
A) Bharti Dayal

B) Sudarshan Kamat
C) Hrishikesh Sharma
D

) Spoorthi Rao
E) None of the above

A) T sHe

B) wd. 3ft. TS

C) TiaTerpe et

D) aTef TR T

E) 37 # @ I el

Who was the leader of the Theosophical
Society in India ?

A) Annie Besant

B) M. G. Ranade

C) Gopalakrishna Gokhale
D) Balagangadhar Tilak
E) None of the above

~N~2
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3. 1 arz a2
1 3™

A)
1 43

E) 37 i 4 HIE T

1 Watt is equal to
A 1ohm

) 1second
B 1coulomb

) 1second

o) 1ampere
1second
1joule
1second
E) None of the above

4.ﬁﬂi%-1ﬁ§aﬁézﬁqw?ﬁwwaﬁ [E45E
T U ® 7 ﬁéé%
A) I i
B) ferssrdt 9aR
C) e &
D) 3w wf
E) 3rgea & & HIS @
Which of the following affects Indian
monsoon ?
/A) ElNifo
B) Tibetan Plateau
L) Jet Streams
D) Allof the above
E) None of the above
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State sh
all €ndeavouyr to secure the Citizen g

————— throughout the terrj
territo :
A) Uniform Work ry of India,

B) Uniform Education
C) Uniform Wage
) Uniform Civil Code

E) None of the above

T WSNT 3N T=Xor hielt & 7
A) sfE |
B) S&yd

C) Siewrgvl &

D) 3mefiEm Hat

E) SwfFa A @ PR T
What is the term used for underground layers

of rock that store and transmit groundwater ?

A) Basin

B
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Google Play

Which bird, Symbolizing power and
strength, was officially declared as the
national bird of the United States of
America in December 2024 ?

A) American Robin

B) Peregrine Falcon

C) Bald Eagle

Y Golden Eagle
E) None of the above

8. faw mRchwm w g frawor ferw ELSE
2025 % T w® R ? il
A) “TreATe | iy | gAwifeT 17
B) “‘qftt % fore e | g forra | BT
sy |

C) “vifH = Trewifm R | Jr=Ed H a™
3o |”

D) “‘3Iuh! ¥ | Ioh ATTHR |”

E) ST § & %1

What is the theme of World Day to Combat

Desertification and Drought 2025 ?

A) “Restoration. Land. Recovery.”

B) “United for Land. Our Legacy. Our

Future.”

@)/Aquifer

C) Watershed area

,D) Artesian well

E) None of the above

EA2 | {00y

) “Restore the Land. Unlock the

Opportunities.”
D) “Her Land. Her Rights.”

E) None of the abovg

: ANt

P.T.0.
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el XYZ 3 T e i ) 1R ) (750 B) 1285
3 Frwe & foro O S R den M o) e D) 1432
3R wfee 1 3 fean mn R E)Waﬁaﬁs‘#ﬁ
: i . e number of "
Direction (Q. No. 9 - 13) : Study the table and | What is the averagorkshop from 5;»
answer the questions given below. people register for ‘g’ Dol Obss
, j ai, Hyderaba !
Company XYZ organised a workshop. Number of j C)h e1n7ns 0 B) 1285
people and ratio of male and female register fora | C) 1459 D) 1432
workshop from different cities are given. E) None of the above
GO || 11, ey o feeett @ 3 O "Wg“@
TN F | wigen w S 3 TS & 5 T8 Tt b Fe
we/City | CRuheRw/ | grum/ ¥ ot 7 AL 7
Register for | Ratio of A) 215 \ B) 200
workshop |male and C) 259 D) 211
: - female ) 37 i3 T
ee/Bangalore 1200 5:7 What is the difference between the total
faeeh/ Delhi 950 11:8 number of female—register from Bangalore
<=5/ Chennai 1800 i 316 and Delhi together and the total number
T e le register from Pataa and Nagaland
/ 2500 | 12:13 of male reg
Hyderabad together ?
gedt/Patna 700 A) 215 ~B) 200
anTeivg/Nagaland 800 C) 259 D) 211
‘ E) None of the above
o ol ‘ a ﬁ
9. AT § TY 3 Tl 39 12. Frfemen 1 Afee Yob T 200 B 3R I
et e et 1 o e S € T 2250 2, T 9= ¥ st 3 el
A) 156.3% B) 157f5% aftr sfia & 7
\%166.66% D) 196.3% A) ¥ 3,60,000 B) ¥2,50,000
E) 7 & & HIE T8 C) %2,90,000 3,90,000
««r—; Total number of (nalg register from @alore E) 3w & & HIg T8
E];‘T)W[% is approximately what percent of total female For female, fees of the workshop is ¥ 200 and
DLsa T for male is ¥ 250. Then how much amount
register from Nagaland ?
39 B) 157 5% earned by company from Chennai ?
A) 156.55 ) 15787 A) ¥3,60,000 B) < 2,50,000
C) 166.66% D) 19q3% C) ¥2,90,000 D) % 3,90,000
E) None of the above E) None of the above
. ARABABASA A RASS NS SIS AN RSN AN Ak~~“~\ﬂ; e A - @ 0, \Sq‘ Q
> &0 &7 wer
-, S P, N o x® s
AL X o A G
A X o o
X
W
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ERNE S ERIG w% . rﬁQ{ ‘ 16, Wﬁ’ﬂ fepm '_I?q 1 ek A 27

A) 11:7
' D . .4 B) IHEs
E) 3T 4 3 3 7 M1y o) s
#[w What i . : D) M W2
EHE 's the respective ratio between E; S B 8 1
e | 2 1 P
state !

Garhwali is a folk dance of which
A) Himachal Pradesh
) Uttarakhand

¥ numb
B er c?f female register in Hyderabaq !
male register in Patng ? "

A) 11:7
C) 11:3 ) 18:4 C) Jammua i
' D) 12:7 nd Kashmir
E) None of the above D) Uttar Pradesh
14 B 3 . E) None of the above
SREENEIE: S TR R 17.mmy@mﬁmﬁqw‘“ﬂa
A) HTETITS V) “ stars feaw” % ®y # weTAn 7
B) fafimm %G A) 13 37T, 1946
C) I W i B) 14 37T, 1946
D) ¥ Ay C) 15 3T, 1947
. Egﬁm %’/ D
Who was the founder of the Mau 3 W A e Di ion
ryan Which day was observed as «Direct ActiO
dynasty ? Day” in the Indian Freedom Movement 7
A) Kalashoka ) August 13, 1946
B) Bimbisara ! + B) August 14, 1946
C) Ashoka C) August 15, 1947
D) Chandragupta Maurya D) August 16, 1946
E) None of the above E) None of the above -
5. Frrfefaa e ae i 3 7 () F 3T & %fﬁﬁ?ﬁanﬁggﬁm, 2025 ‘Eﬁ_‘fgh
fereped <} aaé | A) EF'E, m )
3,3,45,9,2257 ) qrE-ieed, g
K) 67.5 B) 55 c) waf@, feagsete
C) 24 D) 27.3 D) forarn, feagse
E) s § & IS T E)Eﬂéﬁﬁﬁaﬁit:'ﬁ
Replace thg ques.tion mark (?) in-the following xhneu'; ‘?\lﬂzse:?neg,sgozvf\,/zreljdiconomIC Forum
number series with suitable option. A) Bemn, Switzerland
3,34579 225,7 | Davos-Klosters, Switzerland
A) 67.5 B) 55 C) Zurich, Switzerland
C) 24 D) 27.3 _“ D) Geneva, Switzerland
E) None of the above j E) None of theaboveA
P.T.O.

oy 54
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Which was the first urban civilization in South

Asia ?
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Direction (Q. No. 21 - 25) : Study the table ang

answer the questions given below. |
The table shows total number of voters j,
5 different towns, percentage of voters who dq

not vote and percentage of female out of totg

persons who have voted.

A) Chinese Civilization '5 r//b
| Fel HAGIAA
J3) Harappan Civilization o | _;gam"‘?ﬁ % A afgen
: o 9, HAqTal ]
C) Egyptian Civilization \’fyzo;’ g;a/ 1 T/ ﬂﬁalﬁlaﬁ/im
D) Mesopotamian Civilization \Q% 'l?:)gvzv/n q:gtTl Pe;cel:t:ge Percentage
of vote
of female
E) None of the above ! voters | .o dto not out of total
. . vote
20. 4 3! F Ted B T S 9 ¥ yoiq: e B, voters voted
T2 560 A | 30000 1524500 30
A) 1000 % E | 13500 20=24 45
‘)/\%‘/ v | 28080 18=F o 40
B) 1018 > D | 16000 12 60
Vv
C) 1009 %{u E | 32500 6 z\ago 40
D) 1008 .\s° 21.?:%%3@%:65@31@35&;3% .
: : \ Al 1 SAA 5:4 8, AR BT =gz
I0gFd ¥ 8 . ’ . =
2 e T wm&ﬁgﬁxww&mm&ﬁ (=]
. o 1 U F=1 8 7
digit number which is exactl
g’,ﬁﬁ’ The- igast &xditt nu g A) 124 : 101 B) 101: 124
B divisible by 91s & C) 100: 101 D) 124 : 111
A) 1000 37?‘ E) 3w & & i T
W L If the ratio of male to female who do not
B) 1018 \f’ \n\ vote is 5 : 4 from town B, then what is the
o ratio of total male voters and total female
C) 1009 NS 2 voters from town B ?
P) 1008 \0%/ AT 124 : 101 B) 101 : 124
C) 100: 101 D) 124: 111
E) None of the above E) None of the above
W o, e . IRCLRE
\'5%50 \ % oL W\Q*
% 2 o |
x \ % (3N
NS k> 00 I)\W“'“/
Y %
% & /
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Rl b
I TR 7 24, 7 A B C By s ot o g_,
A) 11:9 fabn 2 7 [«f,w
B) 13:9 A) 59360
)
C) 9:11 H 59260 Oéz 0
0
D) 9:13 0590 ) s
. 060
E) i 42 2 D) S a7
" E) I 4 8 51
: atist '
[; E h he ratio of male to female who ; What is the total number of people WO
"% have voted fro
A e 932(9%\\ - have voted from town A, B and C toge!"®" L
11:9  A) 59360
B) 13:9 | > N | B) 59260
C) 9: 11 AR 59460
B) 6213 D) 59060
' E) None of the above

E) None of the above
05, Wt E & HeH &6 el Jei 37 wa BH HAa

23.WA,C§ﬂIEﬁWq$@EIﬁ“W3ﬁ ) T Tl 6w ¥ € a F L 7
1 it wen @ R 7 5040 A) 12660

A) 3030 \4¢ © B) 13470
B) 3930 . C) 13670
3830 , D) 12470
D) 3630 3 \%‘ E) 3w i & 31 T

E) 3uded # § HIg T gL

What is the average number of voters who

What is the difference between number

of male from town E who have voted and

have not voted from town A, C and E female from town B who have voted ?

Z)Qether? 4,)«50 A) 12660 W’{i%
3030 5
) 306500 - B0 P O(/NAO
B) 3930 1q 3
—<30  ©) 13670
C) 3830 TCR A
D) 3630 3%30 D) 12470
E) None of the above E) None o:f t‘h?ua_,b,o‘v‘é
EA2 |||||Il||l||||||||||||||l go 8 T 0 PTO.
Ay &5‘2 OQSVO
\OC)Q 0@/‘(\? 0 (\w
- K { nY N
N
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‘ﬁam(w 26- 30) ﬁwf%fﬁgamwﬁwm‘{é‘* 27["2’()2;%"@%&;\ 3 aht v B g Ew
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Tl 70 At e A e e 5 R A 2

wferAferes e R |

Direction (Q. No. 26 - 30) : Study the following
information carefully and answer the related
questions.

Following line-graph represents the data
regarding total number of shirts sold by different
shops during the following years.

4600
4200

3800
3400 +——
3000 -
2600 - )
2200  S— ._.A?‘f, R
1800
1400
1000

2025
e[ C

2024
A B
Shop B “™*™ Shop C

2022 2023
A A
- Shop A

2021

TG T SEd FT 8 ?

A) 3300 n
\g
_Br"3200 v
C) 3100 s
D) 3000
E) 3uged § & I3 T8

m%E What is the average of total number of shirts
[Ej{,tu-:' sold from all given shops taken togetggr in

2022 ? o - ‘\f;%
A) 3300 q?t," o® 5
B) 3200 S a& ¢
C) 3100 ’< ° 24
D) 3000 %q/ °
%
E) None of the above \
I 4~8

g
£
&

%

ce a5y 2022 3 G C 8 3R T @W

aﬁﬁmﬁm:ww%?
A) 6:7 B) 5:6
C) 4:5 D) 3:4
E) Iwfaa d F 1 T

What is the respective ratio of total numbg,

of shirts sold from shop A in 2024 to the

total number of shirts sold from shop Cin

%‘L B) 5:6

VG')/45 '\b( WWD)34

E) None of the above x

2022 ?

. 2022 37 2024 7 gFM B & 3 7 W H I

é@jaﬂm@ﬁmm&ﬁ'ﬁmAﬁﬁTﬁ
3o 1 P G H i T AR B ?

A) 1800 B) 1000

C) 1200 D) 800

E) 3Iuded # @ 1 A&

What is the difference between total number

of shirts sold from shop B in 2022 and 2024

taken together and total number of shirts sold
from shop A in same time period ?

.}/ 1800 B) 1000

) 1200 D) 800

E) None of the above

L&‘W
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Ca,
NMﬁmm“”?:M ¥ Foeen AfE
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3z

A) 121% !
B) 115% SR i e o
C) 111% o b
D) 108% Py B) X
E) ST & 4 9 7 oM D) N
Total num , E) I74F | § &
e tog:::fi:h;;tz sold from shop Band ¢ N) s more imellié:j . e
ahat porcent of o I3 are approximately et a5, X an’ M. M is n )
o sameshe al number of shirts sold | -. is more intelligent than
ps taken together in 2025 ? but not as intelligent as N. Who is the most
\2;/ 121% intelligent of all ?
115%
C) 111% 9 B X
D) 108% oM 21 N
E) None of the above E) None of the above
30, 2021 & wt & TE g A A T W N e 32, v & W A -1
éwaﬂrzozsﬁaﬁanégamﬁazﬁqg A) Hfer Fed
mﬁaﬁ@aéwmm;mw%? B) & 3R IHH &
A) 35:43 B) 10:13 C) Tl
c) 11:14 D) 22:25 D) i T
E) Iufad § & HiE g mdae
What is the respective ratio of total number of Part — 1 of Constitution of India i
shirts sold from all given shops taken together
in 2021 to the total number of shirts sold from | A) Fundamental Dufes
all given shops taken together in 2023 ? By Union and it Terrtory
\}‘)/35 .43 B) 10: 13 C) Citizenship
C) 11:14 D) 22:25 D) Fundamental Rights
E) None of the above __E) Nonoof el o
o o0 ot %‘/f PT.O.
\6 v 0o y v ;foa/
v f3)

Google Play

~ %
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A) T B) eyt

C)'a?f‘ﬁ D) sl
E) STF & 8 #i¢ 7

The headquarters of the Asia-Pacific
Economic Cooperation (APEC) is in

A) Bangkok ) Singapore
C) Tokyo D) Jakarta
E) None of the above

S Rt 3 # S § wven s 2, i 3ew
3“1‘*\% RESEE ﬁsa w0 U 37e & R
A) TTEEISE g (H

B) Wmmﬁanéﬁmm@mm(m
C) e FIRgSA Wy (H)
D) veH &7 & et aegrm
E) 3w # & ¢ 76 |
Elj‘[ﬂ When an acid is dissolved in water the
" hydrogen present in it Separates out as

A) Hydrogen gas (H 5) ;
\,B)/ Positively charged hydrogen ions (H*)
C) Neutral hydrogen atoms (H)
D) Negatively charged hydrogen ions (H)
E) None of the above

34.

A (H)

35. ¥ 31T fEgEdM AWeh WA 1 Tgeh S e

TyTiUq fopam T o 7
A) 1871 B) 1970
C) 1770 D) 1870
E) 3uged o & HI§ T8
The first bank of India called the Bank of
Hindoostan was established in
A) 1871 B) 1970

¥C) 1770 WD) 1870

E) None of the above

w4
‘
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qraifer ferm mam 2 |
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TRl 8 7

A) g3 B) 2
L) I D) drfyz

E) 39 & & %1 78
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1. TR T 3R 3 iy
A) @ % e T T

Swadeshi was essentially an economic
movement because

A) Improve economic standard of the
people
B) Increase national income

C) Create employment

\p}”lntended to give impetus to indigenous
industries

E) None of the above

52. T 5 39 & 1 e | 1‘@5@%@(3{1}

'»E':;} 8 el W 1?r3ﬂ?ﬁ%|ﬁ={w%?
7 2
A) 1_5 B) 9
1 5
93 D) 12
E) 39w & & &3 &

A fraction becomes l when 1 is subtracted
3

from the numerator and it becomes %when

8 is added to its denominator. The fraction is

2
7
A) L B) =
)12 9
5
3

E) None of the above

[
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53, serfr) v foreg,

55. fe feet e Reiie ATEaTE (SHEI)

B 2o frogg 27
B) Amre
D) @l

A) 2T
C) WA
E) 3P4 1 4 a8 o5

Dhaulagiri mountain peak is located in which

country ?
A) Bhutan \‘,Zﬂ\lc:pal
C) India D) Burma

E) None of the above

54Iﬂmzﬁmmaﬁmm}jgmq Dm'?‘
93:{1'\%%|374?ﬁ],11qm:}/ i :Tj; T
A) 10 B) 9
C) 8 D) 1

E) 39 1 § %1

The square of Meena’s age is 9 more than
8 times her age. ?
ge. What is her age q;p ,0

A) 10 B Y N, oo
C) 8 D) 1 :ﬁ* &;! a
E) None of the above /& )

‘s’m forenftral T e 2 Fore TR 1 e 2 7
TR~ - fe
B> HRR-TE- i G-3 M2 FrETe
C) Tt e fram
D) whel-g-T firemeet
E) 3w § & 1%
What type of missile is the Nag Mark 2
developed by the Defence Research and
Development Organization (DRDO) ?
A) Air-to-Air Missile
B) Fire-and-Forget Anti-Tank Guided
Missile
C) Submarine-Launched Ballistic Missile
\zﬂf Surface-to-Air Missile
E) None of the above

P.T.O.
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56 lﬂﬂmsziaﬂﬁq m@ﬁamaﬂ'%7

57.

A) IA¥H B) afan
C) ity D)
E) 39 # ¥ 3¢ 7
Which mineral is found in monazite sands ?
A) Mica B) Copper
L) Thorium D) Uranium

E) None of the above

i ¥ 243 3 3ifm ek R T TR 7
A) ey

B) st wark

C) ura-Ty

D) AYYIY

E) Swdw 4 & %13 a1

(=] %[ Who is regarded as the 24t and last
@M Tirthankara in Jainism ?

58.

. A A A AT ANARANANATABATARASAZAA,

A

A) Neminatha
Vardhamana Mahavira
C) Parshvanatha
D) Rishabhanatha
E) None of the above
wmﬂaaﬁan%aa—@azsaﬁrzﬁ:mmé
i@ R HTRA AT % |
A) Tur % Reers TR
B) T&dsdl &I ISR
C) s=di &l U
D) THHAT &1 JHR
E) 3w & & # 7
The citizens have been guaranteed the
through Articles 23 and 24 of the
Constitution of India.
\5/ Right against Exploitation
B) Right to Freedom
C) Employment of Children
D) Right to Equality
E) None of the above

59,

60.

61.

GET IT ON
Google Play

A ASA AT AASAA 1A g
,,,,,,,

A) 319 B) 16 %g
C; 23 91 D) 1133
E) 37 @ BE A | |
The lnternational Olympic Day is
on
°b39f\|/621 B) February 1g
C) j:nye 23 D) June 11

E) None of the above
20 fire T T F e e 2 7
B) 50%

A) 35% 1
33—=%
C) 30% N 3
E) 3o § & I T
20 minutes is what percent of an hour ?
A) 35% B) 50%
1 o
C) 30% D) 335 Yo

E) None of the above

TTET AT e He el e § 7 g w
A) q%

B) ictehrar

C) =%

D) T

E) 39w 4 @ IS 78

Saha Institute of Nuclear Physics is
situated in

A) Mumbai

B) Kolkata

C) Chennai

\-/Df Pune

E) None of the above

A A A A A AT A AT A AN AT
A A A A A A A A AR A A A A A A TAEASASASA AN AT

A AR AA AN AN AN A A AN SN A A A A
A A
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I R 84. 5@ B M (i) o i stref L}ﬁ@
A) TS hify e ’ﬂ"{ TN R, A o g 7 @O
; A) lﬂ"ﬂ ')ﬁl o1 A
B) ficht wify ;
C) & sify B) I ST slaury s 11 v
C) H Sitgurgs 4y Aot
sl D) 1 it s o
E) S 4 3 o E) 3T i ) g
Water Seed-Fertilizer technology is When natural gas (methane) burns in the
Popularly known as oxygen of air, what are the products
formed ?
A) Red Revolution 1 °
B) Blue Revol f A) Methane and water vapour
ue Revoluti
roution . #B) Carbon dioxide and water vapour
JZ{Green Revolution 9

C) Carbon dioxide and oxygen

)
D) White Revolution D) Carbon monoxide and water
E) None of the above | E) None of the above

63. WRT % fohwl Tl W SIS g1 ool Hl 30N | 65, ey 2025 3, ey 7 e i g wfgE

JTHAY T FEE T wE AT ? ¥ verell % foru Imeny 3 mETEYS & =9 °
A) SR ‘ fora g fop w2
B) Haw | A) T R
ol | B) &< =@
® C) Ffem werd
D) 3@y
D) <9 3R
E) Iwfe # & IS T8 £y e 42 2 7
Which State of India was annexed by In January 2025, who was appointed as the
Esm D alhousie was the most unjustified act o Vice Presidentand General Manager for India
—Eﬂwz British aggression ? 5 and South Asia Beverages by PepsiCo
i h Chauhan
A) Jaipur A) Rames
B) Satara B) Sanjeev Chaddha
a | |
| - , C) Nitin Bhandari
vg/) hans | D) Deepak lyer -
) Avadh

E) None of the above

the above
E) None oft Ve o

e ————————————— ;15+
EA2 | (I M A 157
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et R A BT

i
i
i
i
|

20%

E) None of the above

AR ET A 7 | %ymaﬁamﬁaﬁqmw%mél
A) T | &mwmmﬁam—m%@maﬁa%
B) T | T IR o ge a2 |

c) ™ Direction (q. No. 68 - 72) : Study the foIIoWing
D) i | information carefully and answer the questiop,
E) I QT | 9iven below.

Tive moder Olym (Games ware fretheld The given pie chart ShOWS the number of sateljg,
in which city ? laUnched by five different countries.

A Home ; T otal number of
/B) Athens mﬁaﬁgﬁ"ﬁ‘;‘! -: 12000

C) Paris _— ,Lq,oo
D) London Ireland <
)

67.%@%@@@@%@1%@%@3@1?
&1 HIOT foRe AT 2,

p) e \;
B) =¥l \";Oo
C) e v 68. AT, Ao 3R A7 g ad IuE #
D) e fere Fitea G J1d HIRT |
E) SRiEd # & IS T A) 3500 B) 3200
@#& Who considered private property to be the C) 3000 D) 2800
,‘_;_]J#% cause of all social and economic evils ? £) v & & w8 T
A Marx an’d Engels Find the average number of satellites
B) Marshall launched by Ireland, Belgium and Norway.
C) Simon A) 3500 B) 3200
D) Adam Smith _ef 3000 D) 2800

E) None of the above

E) None of the above

[ 164 A
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L
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69. TSI &I yaifid g 3t qEm zmm Bt | 7y aferm g AR o A e qarfd
g{g :g;ﬁ z%uﬁ?;mﬂ;ﬁh;?;;:: | i 1 T &7 fan afamd 27
e 3 T ImE e #) o A) B444% B) 83.337
A) 800 B) 780 C) B2.22% D) 80.557°
C) 750 D) 720 £) FrdEa d A g A
E) I# d § 13 Fd The number of satellites launched ‘@f{:‘)@
The ratio of the number of remote and | by Belgium is what percent of the ’@r‘;'-*?
communication satellites launched by Canada umber of satellites iaunched bY
is 3 2. Find the number of communication Norway ?
satellites launched by Canada. (Consider : . \_B‘)/3 3.33%
only remote and communication satellites,;go A) 8444 -
launched by Canada) %\JK‘” C) 82.22% D) 80.557%
A) 800 B) 780 5 @@ E) None of the above
. P20 . s g it 1 g S A
E) None of the above o s A & 20% P -
70.ﬁuﬁmmuﬁﬁa%m€%aﬁt§ﬁéﬁaﬁm€i ﬁﬁuﬁmmammﬁﬁﬁw*ﬁ
ﬁé@m@ﬁ?:g%mﬂrﬁmmmﬁa mmm'|
Ffy waell e 1 FE T I | (et
e g A e 3 F Heh IR A) 1680 B) 1670
T fa=R ) C) 1660 D) 1640
A) 670 B) 660 ) i 3 T
(E;; S—?gaa g P TRl D& The number of satellites launched by India
Ratio of the number of network and agriculture is 20% more than the number of satellites
related satellites launched by Romania is launched by Ireland. Find the gifference
7 - 8. Find the number of agricylture relallted - stween the number of satelites e
satellites launched by Romania. (Consider
only the network and agriculture related by India and Romania.
satellites launched by Romania) * J()/1 680 B) 1670
£ 67 ;){660 . C) 1660 D) 1640
0 wescivmsion 0 st
| W 1T WW‘; P.T.0.
l ) QWW@ q$° ° %‘gﬁ ( ?,(f'
59 Vg 6 v
| 50 2 © %
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73, §2 4 3@ H qfdd T I ggen 39 FHl

fom o 7

A) HRATY B) qfrerfl
C) HIm D) sheprn
E) 37E § @ H 78

Where did the Buddha deliver his first seéfmon |

on deliverance from suffering ?
JAf Samath B) Lumbini
C) Kushinagar D) Bodh Gaya
E) None of the above

\o
74. 3 3x-14=4 x= o
A) -9 B) 9
C) -6 Df 6
E) Iwie o ¥+ T&
If 3x — 14 =4 then X = ‘
A) -9 B) 9
C) -6 D) 6
E) None of the above
75. STCHAR 9 kel fRM e 7
A) TGS B) #IFR
C) 3 D) feeeft
E) 39ded § & Hig T
Shahmar Bagh is located in -
A) Lucknow \,B'f Srlnagar
C) Agra D) Delhi
E) None of the above '
76. fafem faisi seuTe el fRaa & ¢
A) TG B) afierTg
C) HESG D) @
E) S0 8 & P T

(=15 el Where is the Vizhinjam International Seaport

rjh& is situated ?

A) Lakshadweep BY Tamil Nadu
C) Maharashtra D) Kerala
E) None of the above
I <1

__N

GET IT ON
Google Play

et

77 ;ﬁqﬁmﬁm%qwa Fﬂ?ﬂ?ﬂigﬁ,%
; ) ey 1 FA fea o
A) ppar
B) #ar
C) wifeam
D) e
) Zq?jifﬁ if & #1E T
First day of a leap year is Wednesday, they
what day of the week was it on 315! Decembeg,
| 20
2
In that year * 29
M) Friday 2)
BY" Monday }3" "y
C) Saturday %L R Ny
D) Thursday ‘ % IV
E) None of the above 3 c:> o
N TEG
78. UNCTAD 1 feredm | ® Gl
A) T g - 3L LT T2
feeam . 5t 46
B) e T-H HIICRA A R WS
STATHE

C) e I FHIwE A ¢S TWE TATHe

D) I v e 3 I8 TS S
£) Jwiw i & A

Expand UNCTAD.

A) United Nations Co-operation on Tax
and Deduction

B) United Nations Coalition on Tariffs and
Development

C)/United Nations Conference on Trade
and Development

D) Union Nations Capital on Trade and
Development

E) None of the above

8+
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9. TEe Rmen s v T g Haf
8 TR 3 fere s e el T

S

E]r‘.

80.

(CPTPP) &I 12 91 gew &d o1 7

A) 20 TasR, 2024

B) 10 SHadl, 2025

C) 15 femsr, 2024

D) 1 3RS, 2023

E) I o ¥ B @
When did the United Kingdom officially become
the 12t member of the Comprehensive and
Progressive Agreement for Trans-Pacific
Partnership (CPTPP) ?
A) November 20, 2024

J(January 10, 2025
C) December 15, 2024
D) October 1, 2023

E) None of the above
aﬁmﬁmﬁr@ﬁﬁ@ﬁamﬁw% ?
Ef‘wmﬂaﬂ

B) =R
@ﬁ?ﬂ

S O

)
) el
E) g 8 & FE T

Krona is a currency of which of the following

country ?

A) South Africa
) Myanmar
C) Sweden

) Uganda

E) None of the above i E)None?

IIII|||II|I||l|||||||||||

81.

.

GET IT ON
Google Play

et 1 AT qrfy a7 wrem BA 1A 7 a

p) TEE A st g g fef eacl
B) A @ o arfy s FA
c) *aa fet % g afpa 71
D) U ACH ad) g o e A
E) I 4 £1f 7

How do animals in deserts conse
Being nocturnal and excreting
concentrated urine

rve wate’ !

) Storing water in their skin
C) Being active only during the day
D) Drinking large quantity of water at 0Nc®
E) None of the above
L’Jffr”
82. mm%wmﬁmw %
Rk S R Gl
A) 1952 B) 1964
C) 1982 D) 1976
E) I § & 1% Tl
After Indian independence, Community
Development Programme was started in
1952 B) 1964
C) 1982 D) 1976
E) None of the above
83. Wﬁﬁmmﬁmﬁm
TR ?
A) T
B) I We¥l
C) derTHI
D) HeRT
E) 3w § & H T
Which of the following States does not have
a bicameral legislature ?
\;Kf Rajasthan
B) Uttar Pradesh
.C) Telangana
Maharashtra

E) None of the above.

)
D)
)

P.T.O.
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When the foetus is growing inside the uterus
itneeds nutrients. Which part provides these
nutrients ?

A) Uterus

B) Oviduct

C) Amniotic sac

./6) Placenta M

85.

EA2|

e b

E) None of the above 5

R 271 1 e fafive s s A
2, 98l Gvad: gl 8 |

A € . .

A country with a wide base in its population

pyramid likely has

A) Balanced population structure
B High birth rate

C) Aging population

D) Low fertility rate

E) None of the above

86.

87.

GET IT ON
Google Play

fim et A 81t et oy
ard (cowB) &7 e

5 @ s T _
i ini leased the AN

Which ministry ré |

Groundwater Quality Report 2024, compileq

by the Central Ground Water Board (CGWB),

on December 31, 2024 ?

A) Ministry of Agriculture an

Welfare

d Farmers’

./{) Union Ministry of Jal Shakti

C) Ministry of Earth Sciences

D) Ministry of Environment, Forest and
Climate Change

E) None of the above

wh i % A T TR 2 x 1072 3T E¥E
% | gEeht i 2 et 3 ST T %{Lﬁ
FITEY HTE HT FIFA 1.7 x 1070 m? “:ﬁ
2, a1 dis o gfeRieskdr #0187

A) 3.4 x 1078 TH-HIeX

B) 1.7 x 108 3mm-fiex

C) 2 x 10723m-Hex

D) 1.7 x 1076 ang-fiex

E) Swje # & IS &l

A copper wire has a resistance of

2 x 102 ohms. If its length is 2 m and its
area of cross-section is 1.7 x 10-6 m2, what
is the resistivity of copper ?

A) 3.4 x 108 ohm-meter

B 1.7 x 1078 ohm-meter

C) 2 x 102 ohm-meter

) 1.7 x 10® ohm-meter

E) None of the above

A A A A A A A A A A A A A KA SAEATEA AN A A EA A -
A A A A A ATEA A SATA TR SA AT A

N0
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A) 1947 B) 1944 | Choose the indiract form of the give”
C) 1
E) 946 | D) 1945 | sentence.
S) 3q§qﬁ LK I3 T | He said, “ | shal| 4o my best ",
imla conference w ; ! ,
A) 1947 8 convenedin the yeqy | % He said that he would do his bes!:
B) 1944 ,
C) 1946 D 1945 | B) He said that | would do his best.
E) None of the above 2 C) He said that he would do my best-
89. Frferfian § @ wden g T Hif | D) He said that | shall do my best.
A) e B) W E) None of the above
C) == D) a1
E) vwdwa i : N0
_) AR R 92. Choose the correctly spelt word. féﬁ;g’%
Find the odd one from the following. /
B Tasteless B) Salty Gracious
C) Sour D) Sweet B) Graccious
E) None of the above.
C) Gratious
90. forg 2w 3 ICC fpre-Targ e Affmmfm (WTC) .
D) Grecious
2025 1 Radre Sfar 7
A) WRd E) None of the above
B) sficieht
C) gfeqor arshrent 93. Choose the opposite word (antonym) to the
D) aw ©I¥ given word.
E) 39dad § @ HIg T8I Victory
" [ ICC Cricket-World Test ,
EE]lgl Which country won the ICC Cri A) Splendid
@5 Championship (WTC) 2025 title ?
. B) Virtuous
A) India
B) SriLanka C) Reward
South Africa \Q/Defeat

D) West Indies
E) None of the above

E) None of the above

A AAA A KA A A RAARASASA LA AN SATABANASARASA A

T 4n214 PTO.
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following passage and answer the questions

given below it.

Reading is more than just a way to pass time —
it is @ powertul tool that opens the door t0 hew
worlds, ideas, and knowledge. People who read |
regularly often have stronger vocabularies, better |
communication skills, and a deeper understanding
of the world around them. _f
Research has shown that reading fiction can
improve empathy by allowing readers to experience
life from different perspectives. Non-fiction books, j
on the other hand, help readers gain information
and understand real-life issues, history, and “'
scientific concepts. ‘

In today's digital age, many people sﬁend more
time on social media than reading books.
However, studies suggest that readifrj“g for even
15 to 30 minutes a day can significantly improve
concentration, reduce stress, and boost mental
well-being.

Whether it's a fantasy novel, a historical biography,
or a science article, reading helps to develop the
mind and broaden one’s horizons. ltis a lifelong

habit that benefits people of all ages.' |

94. According to the passage, what is one benefit
D%E of reading fiction ?
A) It teaches history
M) lItincreases empathy
C) Itimproves spelling
D) It helps memorize facts

E) None of the above

95

[

22+

GET IT ON

Google Play

-‘

sage ?
What ig the main idea of the passag

ts
A) Reading is 0" for studen

ful
B) Only non-fiction books are uselu

21 Reading helPS improve vocabulary and

knowledge

D) Social media is harmful tO readers

E) None of the abové

96. e, ft o 1 0 # e
A) 1,800 ¥5H
B) 1,500 W=
C) 1,028 w51
D) 1,000 59

E) 3 & ¥ 5 &I
The Rig Veda is a collection of how many

hymns ?

A) 1,800 hymns

B) 1,500 hymns
of 1,028 hymns

D) 1,000 hymns

E) None of the above
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o7 fevite 4 famer ) v fon A1 T % gy
g‘ﬂu@%ﬁ%%mﬁ&mﬁmlﬁﬁawﬁmg

;)
év’ﬂ)? L HEY R 7
A) HTHI
B) @l
C) wrd
D) WaU WTd
E) Iwfad # & & T8

Vinod introduces, Vishal as the son of the
only brother of his father’s wife. How is Vinod

related to Vishal ?

A) Uncle N
B) Son "‘JQ“FN
C) Brother Q\w

VUY Cousin

GET IT ON
Google Play

,,‘,{fl'//f

99. sfzad oy fro Atz Aor4 (z511) A
i @A -H BHA mperargda s, Al AT
sertfrd B sz i ow e AT ar

H
i
§
i
{

| arfard &5 7

3 A) TP B) =AA
c) =i D) %
E) ITAFT H A 1

Which crop did Indian Space Research
Organisation (ISRO) successfully sprovt "
space, marking a milestone in space-base’
agricultural research ?

A) Maize B) Rice

\9/ Cowpea D) Wheat

E) None of the above

100. st BRI % sgee 170 § #7217 2
fp T faum @ § sifoshad Tz

E) None of the above
ge.mgﬁﬁﬁmﬁ’_@q@aﬁﬂéeﬁl 3 = 60 FaE 3 FHA B |
A) 28 fadsit, 2000 A) 480
B) 530
B) 283, 2000 &) 500
C) 28 3T, 2000 D) 450
D) 28 9T, 2000 E) Iuged # ¥ HIS TE
E) Wﬁhﬁ 3§ #IS T8 Article 170 of the Indian Constitution e
_ ) states that State Legislative Assembly 7
The National Agricultural Policy was presented . Ay
in the Parliament on can have maximum members =7
and minimum 60 members.
A) September 28, 2000
A) 480
B) June 28, 2000 B) 530
C) August 28, 2000 \9)/ 500
D) July 28, 2000 D) 450
E) None of the above E) None of the above
—
<23 P.T.O.

i (EA2] mmwmmm
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